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Brooke had 5 bags of apples.  There are 2 apples in each bag.  How many apples does she have in all?
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Nathan has 3 bags of cookies.  There are 24 cookies in each bag.  How many cookies does he have in all?
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Brandy organized the chairs into 5 rows with 4 chairs in each row.  How many chairs in all?
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A frog can jump 2 m in one leap.  If he takes seven leaps, how far did he go?
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Nicole has 30 pieces of candy.   She has six bags.  She wants to put the same amount in each bag.  How many will she put in each bag? 
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Brylen has 3m of ribbon.  Serena has 6 times as much ribbon as Brylen.  How much ribbon does Serena have?
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Tamara saved $8 from doing chores. Aurora saved 4 times as much as Tamara.  How much did Aurora save? 
[image: image8.wmf]Gavin has 3 pairs of pants and 5 shirts.  How many different combinations of a pair of pants and a shirt can he make?

